Porte-vélos sur attelage
Instructions de montage
Towbar bicycle carrier
Fitting instructions
Fietsendragers voor trekhaak
-instructies

Montage

Porta-bicicletas para montagem no sistema de reboque

Fahrradtrédger fiir Anhangerkupplung
Instrucdes de montagem

Montageanleitung
Porta bicicletas a bola de enganche

Istruzioni per il montaggio
Instrucciones de montaje

Portabici su gancio traino

"MICHELIN

009066




Wi¥ Composants (Compris)
HIN Components (Included)
I™ Componenten (Includief)

I3l Komponenten (im Lieferumfang enthalten)

Wi¥ Componenti (Inclusi)
3 Componentes (Incluido)
W28 Componentes (Incluido)

2 1
3 2
4 3
5 3
6 6
7 6
8 6
9 2
10 2

11

N

12 6x18
13 \/ 6x12
14 M6x16
15 ——) M6x60
16| " mras
17 M5x16
18 M5

19 (=) 5x15
20

21

22

23

.

%0




2%,
S R =%
0 -- L
e /..\\\
=0 )

23
;
)L

=T

o
=0\ /
\

SENAN e
I..\N\‘ #..‘; 3

\\, \ 4

/.., \\\\\..
%&

&
®

559
&)



Q
1

Q
2
2
4
4
1

6x12
M6x16
[

6x18

N
1
N
3
12
13
14
20







= SX

=)
==
=
o w
Q YO olal=
A= IS
28 5|a3|8lE
x| x| ||| >
~
= —
S~ =
SlolZ«<glE 2
T x| T |E|x i}
S5 SIS S5 = e
DN=ZnNn = =N|a




2
2
1
1
2

(@]
©
=
n
=

CIE
(= 5x15

8
19




78 A\Lﬁ(@

\

A

/ s
9

\ ’/f
/m\llJ
_— Q \




A 3
I :
| MAX1100mm |

&
N
P>
<.
£EE

:70mm Y: :







CRLARD 1 RG]

[====[ ===
ARG L AT

e Rl ]

(B )

¥e

TANDEM

JAN

94/20/CE
STANDARD

3x 2x E-bike
max 45kg max 50kg
max 28,3kg | max 28,3kg
60kg max 38,3kg | max 38,3kg
21,7kg
70kg max 45 kg | max 48,3 kg
70kg> max 45 kg | max 50 kg




'132 Consumer enquiries :

k Tél : +33 (0)4 76 32 69 37
. email : michelin@impex.fr

Distributed under licence by Impex SAS.

140 Route des Moulins 38490 Chimilin. France
MICHELIN and/or the Michelin Man Device and/or BIBENDUM
are trademark(s) owned by, and used with
the permission of, the Michelin Group. ©2017 Michelin.
www.michelin-lifestyle.com

B0

)

S “MICHELIN

S¥.

Cod. Istr. Data Creato da | Approvato da

500006200000 05/2017 NP EL




